Economics 302
First Midterm

Spring 2005

February 28, 2005

INSTRUCTIONS:
You will be given two bluebooks for this exam.  In using the bluebooks WRITE ONLY on the RIGHT HAND SIDE of the page.

1. Put your name, UW ID number, and discussion section on each of the two bluebooks. 

2. Write “Short Answers” on the cover of one bluebook.

3. In this bluebook, answer the four Identification Questions.

4. In this same bluebook, also answer the four Short Response Questions.

5. Write “Essays and Problem” on the cover of the second bluebook.

6. In this second bluebook, answer two Essay Questions.

7. Also in this second bluebook, answer the Problem.

DISCUSSION SECTIONS:

Richard Dunn

Section         Day              Time          Location 
     319         Thursday         1:20         58 Bascom 
     318         Thursday         3:30         6116 Social Sciences 
     315         Friday             8:50         6322 Social Sciences 
     316         Friday             12:05       4322 Social Sciences 
     317         Friday             1:20         6322 Social Sciences 
  

Micah Hughes 
Section         Day              Time          Location 
    301         Thursday         8:50 
55 Bascom 
    302         Thursday         11:00        58 Bascom 
    303         Friday             11:00
123 Ingraham 
    304         Thursday        3:30
6322 Social Science 
    305         Friday             9:55
374 Van Hise

Regrade Policy:  After the return of graded exams there will be a one week period in which students may request a regrade of a particular question.  If such a request is made, the ENTIRE question will be subject to review and potential grade revision.  During the course of this re-evaluation the question’s grade may increase, decrease or remain the same.

USE YOUR FIRST BLUEBOOK FOR IDENTIFICATIONS AND SHORT RESPONSES

I.  Identifications:  (15 minutes total time and 5 points each)   In your FIRST BLUEBOOK, identify and briefly explain the importance of each of the following terms.

1. Complete Crowding Out
2. Shoe-Leather Cost of Inflation
3. Natural Rate of Unemployment
4. Purchasing-Power Parity
II. Short Responses:  (15 minutes total time and 5 points each)  In your FIRST BLUEBOOK, discuss each of the following statements.  Explain your answer in a paragraph in the space provided.  Do not exceed the space allowed.

1. In the Classical model when capital, labor and technology are fixed, what fiscal policy choice of government spending (G) and taxation (T) maximizes GDP?
2. The Consumer Price Index (CPI) and the GDP Deflator capture the same information and can be used in identical ways.
3. For a given Cobb-Douglas production function, explain what is the marginal productivity of labor as well as what happens to the real wage when the state of technology doubles.
4. We expect tourist visits to the United States to increase when the dollar appreciates.  Agree or disagree and explain your answer.
USE YOUR SECOND BLUEBOOK FOR ESSAYS AND THE PROBLEM

III. Essays:  (30 minutes total time, 20 points per essay) In your SECOND BLUEBOOK, answer the following two essay questions.  Remember in the essay  
· To use standard English and complete sentences.

· To organize your answer.

· That the grade will depend not only on content, but also on organization, expression of thought, and clarity.

· To include well labeled graphs or examples if they will help to illustrate your answer.

· To include appropriate mathematical statements if they will help to illustrate your answer.

1.  In the Classical Model with a closed economy, government spending increases.

a. If this is the only change that occurs in this economy explain what its effect on the loanable funds market will be.  Be explicit in your answer.


b. In this economy this increase in government spending leads to a decrease in the real interest rate in the loanable funds market.  Provide two possible scenarios explaining how this could happen. 
2.  Using the graph below and your knowledge of the quantity theory of money discuss the validity of the theory over the period 1960 through the present. You should address the following questions in your answer.

a. According to the theory what are the expected relationships between the variables presented in the graph? 

b. The behavior of these variables before 1987 is very different from the behavior of these variables after 1987.  What assumption in the quantity theory could be relaxed to explain this behavior? 
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IV. Problem:  (15 minutes total time and 20 points total)  In your SECOND BLUEBOOK, answer the following problem.  Remember in the problem 

· To show your work:  in this section there will a deduction for right answers without work.  

· Partial credit is only possible where the math and your work steps are reasonably easy to follow.

· To identify any abbreviations used.

· An illustrative graph may be helpful in arriving at your answer.  
1.  There is a village in which there are 10 farmers. The only thing which farmers plant is corn. Thus, when we speak of village output or the farmer’s output, we mean the total bushels of corn produced per period. Farmers use two things to produce corn: labor and corn. Farmers inelastically supply one unit of labor every period. The only physical capital in the economy is corn from the previous harvest that is planted to generate more corn. At the beginning of the period, each farmer possesses 16 bushels of corn. Corn production follows a Cobb-Douglas production technology that exhibits constant returns to scale. Capital’s share of income is .5 and the state of technology is 16. Farmers, once the corn is harvested, must give 4 bushels of corn to the village government (the Chief). After paying their taxes, farmers can then either choose to consume corn or save their corn by giving it to the Chief. Consumption is determined by a Keynesian consumption function with a marginal propensity to consume net output (total output – taxes) equal to .8. The Chief pays an interest rate of 1/3 so that at the beginning of the next period, farmers have the amount of corn they saved plus the interest paid by the Chief. The Chief is able to pay such a high interest rate because he occupies the best farmland and “invests” the corn his villagers have saved by planting it on his own land. The village government runs a balanced budget.

a. Calculate the village GDP.

b. Determine the total consumption in the village

c. Determine the level of government spending in the village

d. Determine the level of investment in the village.

e. Show that the National Income Identity holds in this village. 

f. Determine the wage that each farmer receives.

g. Determine the rental price of capital (the price of one bushel of corn for planting) in the village.

h. Show that the income in the village equals the expenditure. 

i. How much corn does a farmer possess at the beginning of the following period?
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